
Go forward
2 spaces

 + 3 = 10

6 +  = 10

7 +  = 10

3 +  = 10

9 +  = 10

7 +  = 10

Go back
2 spaces

Go forward
2 spaces

6 +  = 10

9 +  = 10

7 +  = 10 + 4 = 10
Go forward

2 spaces
 + 5 = 106 +  = 10

Go forward
2 spaces

Go back
2 spaces

8 +  = 103 +  = 10

5 +  = 10 + 0 = 10

 + 1 = 105 + 5 = 

8 + = 10 + 8 = 10

Go back
2 spaces

6 + 4 =  + 10 = 10
Go back
2 spaces

2 +  = 10
START

1. Player 1 rolls the die and moves forward on the board. 

2. Player 1 must use the rainbow to help answer the question. 

3. After correctly answering the question, Player 1 will then 
place a counter on either a yellow or purple circle.

4. If the Player answers incorrectly, they do not place a 
counter on a yellow or purple counter. 

5. Play continues until a player has counters on all ten 
circles of their colour choice – either yellow or purple. ©
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